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BACHELOR OF SCIENCE (B. Sc.)
Term-End Examination

December, 2023
(Life Science)
LSE-02 : ECOLOGY

Time : 2 Hours Maximum Marks : 50

Note : Question No. 1 is compulsory. Attempt all
questions.

1. (a) Define the following terms : 1x5=5
(1) Detritus
(11) Mangrove vegetation
(111) Keystone species
(iv) Niche
(v) Food chain

(b) Match Column-A with Column-B: 1x5=5
Column-A Column-B
(1) Precipitation (1) synthesis of
carbohydrate

from CO:2 and
H20

(1) Fauna (2) bottom of an
ocean

P.T.O.
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(i11) Photosynthesis (3) Statistics of
population

(iv) Benthic (4) animal types

(v)  Demography (5) atmospheric
moisture
descends to
earth

2. Attempt any four of the following questions :

3.

(a)

(b)

(©

(d)

(e)

5x4=20
Differentiate between the following :
(1) Colluvial soil and Alluvial soil

(11) Natality and Mortality
Explain hydrological cycle.

Discuss the categories of biotic components
of an ecosystem.

Describe the defence mechanisms 1n
plants.

Discuss the various ways of air pollution
control.

Attempt any two of the following questions :

(a)

(b)

(©

2x10=20

What is nitrogen cycle ? Describe it with
the help of a diagram.

Describe various forms of predation and
explain the predator-prey system.

Describe the main threats to wildlife.
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